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e (1) W weT e €
All questions are compulsory.

(i) woT oA 1 # & 9 & - 9w (3) # sgfadcaa yee aer 9w (9) ¥ Rep wEn
o gfd &

Question No. 1 contains two parts — Part (A) Multiple choice questions &
Part (B) Fill in the blanks.

(i) yo9 T & @Wusi ¥ fawlsa g1
Question paper is divided into six sections.

(iv) v HAiE 2 & 6 3ifd g 3wy &, el s 30 v 2
Question Nos. 2 to 6 are very short answer type questions, whose word-limit
is 30 words each.

(v) W HHIG 7 F 11 I oY Iag we g, e we-dmr 50 v 2l
Question Nos. 7 to 11 are short answer type questions, whose word-limit is 50
words each.

(Vi) ¥ HHIG 12 F 18 dF oY Iag Yo &, e - 80 v 2l
Question Nos. 12 to 18 are short answer type questions, whose word-limit is

80 words each.
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(2)

(vii) JeT B 19 ¥ 23 dF ¥ I Yo g, e v 130 = &
Question Nos. 19 to 23 are long answer type questions, whose word-limit is 130
words each.

(viil) Te=T HUTB 24 U 25 AE IINIT W &, e - 180 v gl
Question Nos. 24 and 25 are long answer type questions, whose word-limit is
180 words each.

(ix) 3MaRe fawes FrmmaR fiw mw &

Internal choices are given as per rule.
(Tus-31)
(Section-A)
(FS Ve 1 3P BT )
(Each question carries 1 mark)
w-1. (37) W fodew gaax fofae : 1%5=5

(A) Choose and write the correct option :

() did TP §N P T dEP Tl &
(31) 28 B Ubaq

(§) wm #ee e
() Fc-3M3c TN
(¥ HRM P Uex

Walk cycle making is not New Technology :
(@) 2D computer graphics
(b) Stop motion method
(c) Cut-out animation
(d) Motion cut editor
(iy oM Ferr §
(31) e derr
(§) wipa G
(F) W &
(T) IR TH

C-232956



(3)
Telephone etiquettes is :
(a) Speak clear
(b) Active listening
(c) Give answer
(d) All of the above

(iiiy foRed ToR &1 weom &

(37) CelmI
(§) afer oot
(|) utrerd
(@ |

Medium of written communication :

(a) Telephone

(b) Body language
(c) Magazines

(d) Al

(iv) TifueE & enfie &

(31) Ta—M

(3) Reaed

(&) (31 3R (@)

(@) Plg Tl
Anticipation includes in :
(a) Action

(b) Reaction

(c) (a)and (b)

(d) None

(v) foro-smfen doa 2:

(31) Jem

() f&ar a1 g

(T IRRH IW
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(4)
Lip Biting sign is :
(a) Happiness
(b) Anxiety or stress
(c) Optimistic
(d) All of the above

-1, (3) R == & gfd @ifoe :

-2

3.

U -4,

U-5.

Ue-6.

(B) Fill in the blanks :

interesting.

() % @rge 5™ ... M oa1 I 2l
High point also known as .
(i) 3R St veem awgat iR ... B Jgd FET B
Overlapping action makes objects and
(i) A TS &1 4 2|
Happiness is a part of animation.
(iv) SR & ... S84 3Mavad gl
is very important in communication.
(v) TN § TR .............. w® R o= 2l
Actions in animation depend on
(@us-9)
(Section-B)

(T T 2 3T BT R)
(Each question carries 2 marks)
uferfsar Far & ?
What is Feedback ?
foo-argfem @ & °
What is Lip Biting ?
EneT g § P
What is Planning ?
I FT g ?
What is Arcs ?
28 TINRH T & ?
What is 2D Animation ?

1%5=5
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-7,

Ue-8.

-9,

U2--10.

-1,

RE-12.

UeE-13.

UR--14.

(5)
(TUs-99)
(Section-C)
(AT We 3 3B B B)
(Each question carries 3 marks)

TameE W afhg Tfa g@r g ?
What is a cyclic motion in animation ?
s feses @@ &7
What is pose design ?
oheRE # T & g & v |
Describe the value of acting in animation.
oo o 99 & 1 e @ P
What is the importance of timing in animation ?
W e Far &2
What is frame padding ?

(TUs-7)

(Section-D)
(FS Ve 4 3D BT )
(Each question carries 4 marks)

T O vd B Wi @ et
Explain the passing pose and high point.

3@l / OR
dis Thd 3R T Ied P GHSEE|

Explain the walk cycle and run cycle.

s & B @d w5 T e d

What is the advantage of being open to feedback.
31ygar / OR

DA GRGR B B T AT M ?

What should be done before transferring a call ?

Tare 6 ded € ? Hae & fovemor H fear smar &€ °

What is Dialogue ? How to analyze dialogue ?

2+2=4

1+1+1+1=4

2+2=4
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U--15.

U=--16.

WRE-17.

U2--18.

U219

(6)

31@ar / OR
o deg @ e B B A &1 9o )|
Describe the process of animating the blend value.
AN # §H-lacde & WM @ auH Rl
Explain the use of in-between in animation.

3@l / OR
TaING Usl P TR
Explain the expressive pose.
IRR iy H qHSIET|
Explain the Body Mechanics.

3@l / OR

go & EWIARUT B GHSET|

Explain the transfer of weight.

Tdeys T Ied B GHSTRT|

Explain the run cycle of quatruped.
31ar / OR

Falcds did qIbd DI GHSST|

Explain the walk cycle of quatruped.

veeM 3R Riewe @1 a@sgel

Explain the action and reaction.
3@l / OR

e 3R o-3mse @ AHERe

Explain the planning and layout.
(@us-3)

(Section-E)
(JAF UL 5 3P BT 2)

(Each question carries 5 marks)

AfRes 3tk 3Fifes darR & 3R folRawl

2+2=4

1+1+1+1+1=5

Write the difference between verbal and nonverbal communication.
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(7)
31ar / OR
weer gaen 3R Rafen # iR fuRaw
Write the difference between message encoding and decoding.
We-20. BN did Iaed §M @ Uihar &1 auiE difotel 5
Describe the process of making a horse walk cycle.
31ar / OR
IqYST 96 TG B TR BRA DI AihaT B FHHRE
Explain the process of animating a quadruped walk cycle.
wea-21.  TAMRM wiear # et S Fmior & fafer foRael 1+1+1+1+1=5
Write the process of creating bouncing ball in animation process.
31ar / OR
di @ eime &9 fEar s & 2
How to animate the ball ?
yeE-22.  eRH F1 8 ? I TR @ a fRivan fuReel 2+3=5
What is presentation ? Write three features of a good presentation.
31yar / OR
Bledd T & ? fodl a9 YBRI & auia difsel
What is the feedback ? Explain three type of feedback.
We-23.  UEAi Ui RN & e @ ol 1+1+1+1+1=5
Write the principles of advance acting process.
31Yar / OR
veag 3T wigear &1 v R
Describe the advance acting process.
(TUs-B)
(Section-F)
(AT Ue 6 3B BT 2)
(Each question carries 6 marks)
w24, dfb IBA BT ARISR foiag] 1+1+1+1+1+1=6

Write the procedure of walk cycle.
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(8)
31Yar / OR
H AEEd & IR faRae|
Write the procedure of run cycle.
we-25.  Woige faudl § =1 Wolee W &t ufthar @1 fua afad awsmev 3+3=6
Explain with a picture the process of creating a new project in the project
window.

3ar/ OR
TIeE ¥ AT B faR ¥ gwEmEe

Explain briefly animation render setting.
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